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Time — Three hours
(Maximum Marks: 100)

Answer all the questions only in the drawing sheet supplied.

[N.B:
Assume missing dimensions suitably, if required.

Use proper drawing instruments and drawing board.

First angle projection is to be followed.
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All dimensions are in ‘mm’. ]

PART - A (4x5 = 20)
Answer any four questions. Each question carries five marks.

1. Write the following statements in 7mm height lower case letters.
“ALL DIMENSIONS ARE IN MM. ‘SIX HOLES DIAMETER 8MM.”

2. Draw an arc of 50mm radius touching exterthLy the two arcs of
25mm and 50mm rqdius at a centre offset distance of 120mm.

3. Draw the projection of point ‘R" at 32mm below H.P. and 40mm
behind V.P. :

4. A strcﬁght line AB of 50mm long is in H.P and parallel to the V.P.
Draw the projections of the straight line, if it is 25mm in front of the

V.P.

5. Draw front view and left side view of the pictorial view of the
component given in the fig.1.

PART - B (4x20 = 80)

Answer any four questions. Each question carries twenty marks.

6. Read the dimensioned drawing shown in fig.2. Redraw the figure to full
size and dimension as per Indian standards.

7.  Draw an ellipse with a 70mm long major axis and a 45mm long minor
axis.

8. Draw a hyperbola when half the transverse axis, double ordinate and
abscissa are 50mm, 120mm and 40mm long respectively.

[Turn over.....
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Construct the path traced out by a point on a circular disc of radius 30mm
rolls in a circular path of radius 100mm inside it.

The pictorial view of the machine component is given in fig.3. Draw the
elevation and right side view.

The pictorial view of the machine component is given in fig.4. Draw the
front view and top view.
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